I r
Quality products ’SOHEAT®

RIS

Mounting bracket
MiL- MS 1/MiL-MS2 %7%!| series MIL-
& T8 B WMIL-PCB1E 48 & it &8 suitable for connection box MiL-PCB1

BEEREZZR, BT AN

VBRI, 2EBRAEL, R T4 2 IRET, BB 55
A EHIRECH R0, 8K, 2 RREIREAUEL, 2/ AR IREU St i A1 4K, ‘
f

2/ VBX8Hy H T HY T URAL, AZEMOTT 5 Yy R )

bracket complete for tube mounting, consisting of: /
1 pc. mounting plate made in V2A .
2 pc. angle made in V2A -

4 pc. mounting screws with nuts and washers
for the mounting of the connecting box i

2 pc. 0,8m thread-clambing band
2 pc. thread clamping head

2 pc. deflection angle with mounting screws s
2 pc. screw M8x8 with helical spring washers
4 pc. nut M6 with washers and helical

spring washers order-no.: 72000010

series MiL-MS2
IE T8 5 AMIL-PCB2 12k S i & A
suitable for connection box MilL-PCB2
EEREIR, BN EHER:
L deti, 2BMek, AR R4S L RIRE], 1RE S
2B EIREGH0. 82K, 2N RBEMRAE Sk, 24l AR IRA )
HAER, 2 MBXSTF S A IR, AN o By R B
bracket complete for tube mounting, consisting of:
1 pc. mounting plate made in V2A
2 pc. angle made in V2A

4 pc. mounting screws with nuts and washers
for the mounting of the connecting box

2 pc. 0,8m thread-clambing band

2 pc. thread clamping head

2 pc. deflection angle with mounting screws
2 pc. screw M8x8 with helical spring washers
4 pc. nut M6 with washers and helical

spring washers order-no.: 72000011




series MiL-MS3

suitable for connection box MiL-PCB 3 P ada
& T Y5 AMIL-PCB3R R B e 4 i 1] '

ElEREZER, BT A

VR, 2BRAEL, R ITRIAE 2 RRIRET, IREE 59
2B RS C0. 8K, 2 REIRAESL, 2l s R IRA S il Bk,
2MMBXS T R EL HTIRAL, AEMOFFR I Y iR B \

bracket complete for tube mounting, consisting of:
1 pc. mounting plate made in V2A
2 pc. angle made in V2A

4 pc. mounting screws with nuts and washers
for the mounting of the connecting box

2 pc. 0,8m thread-clambing band

2 pc. thread clamping head

2 pc. deflection angle with mounting screws
2 pc. screw M8x8 with helical spring washers

4 pc. nut M6 with washers and helical
spring washers order-no.: 72000012

series MiL-MS4
suitable for capillarthermostat MiL-CSTL
TS AMIL-CSTL R il &

MilL-MS1 stainless steel plate 120 x 120 mm

EERETER, BT EM:

VIR, 2B, LR IR 4B LRIRAET, 1RE 55
2B EIRE0H 0. 8K, 2 RIEMREAESL, 2/ L3RR AU S il A 2k
2PMBXBHI PRI H T IREL, MO S 5 v AR RF

bracket complete for tube mounting, consisting of:
1 pc. mounting plate made in V2A
2 pc. angle made in V2A

4 pc. mounting screws with nuts and washers
for the mounting of the connecting box

2 pc. 0,8m thread-clambing band

2 pc. thread clamping head

2 pc. deflection angle with mounting screws
2 pc. screw M8x8 with helical spring washers MiL-MS4 stainless steel plate 230 x 140 mm

4 pc. nut M6 with washers and helical
spring washers order-no.: 72000013




